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Fy)oL-o [ REfR#EY " 7" B B_LEEN4.9tR B - * * - * * - * * *
MyL-[REREY 7" B - ~EER] B LEEH100tR =] - * * - * * - * * *
My [REREY 7" B - ~EER] B_LEEH120tR =] - * * - * * - * * *
FyL-[REREY 7" B - ~EER] B LEEH160tH =] - * * - * * - * * *
MyIoL-[REREY 7" B - ~EER] B L&ES200tH =] - * * - * * - * * *
Fy)oL-o [ REfR#EY " 7" B B LHEH360tH B - * * - * * - * * *
3I5V-Y9b - CEEARHEY 7" B - ~RER - HERTEL(~2014)] B_LEEN4.9tR =] - * * - * * - * * *
3I5V-YI - EARHEY" 7 BY - ~EER - BRI R~ 1R)] BLEEH7tR H - - - - - - B N B 0
3I5V-Y9 - CEEARHEY 7" B - ~RER - HETEL(~2014)] BLEEH16tH =] - * * - * * - * * *
3I5V=-Y9 - CEARHEY 7" B - ~RER - HETEL(~2014)] B_LEEH20tH =] - * * - * * - * * *
3I5V-Y9b - CEARHEY 7" B - ~RER - HETEL(~2014)] B_LHEH25t% =] - * * - * * - * * *
3I5V-Y9b - [CEEARHEY 7" B - ~RER - HETEL(~2011)] B L HEH35tH =] - * * - * * - * * *
3I5V-Y9 - CEEARHEY 7" B - ~RER - HETEL(~2014)] B L HEH50tH =] - * * - * * - * * *
375b=-YI - EEARHEY" 7" B - ~EER - BRI R~ 1R)] B_LEEH10tR =] - * * - * * - * * *
3I5V-Y9b - CEARHEY 7" B - ~RER - HETEL(~2014)] B LEEH60tR =] - * * - * * - * * *
3I5V-Y9b - CEARHEY 7" B - ~RER - HETEL(~2014)] B_LEH70tH B - *(®) *(®) - *(®) *(®) - *(®) *(®) *
J0-39V-Y[BERRENRD1VF - 5FAY" 7" - ~AKER - HE(~20R)] B L HEH50tH =] - * * - * * - * * *
J0-39b-Y[ERREND1VF - 5FAY" 7" - ~KER - HE(~2011)]  [M_LABS100tH =] - * * - * * - * * *
I0-39V-Y[BERREND1VF - 5FAY" 7" - ~KER - HE(~2014)] (R LARIS5tR =] - * * - * * - * * *
I0-39V-Y[ERRENRD1VF - 5FAY" 7" - ~AKER - HE(~20R)] B LHEH65tH =] - * * - * * - * * *
J0-39V-Y[ERREND1VF - 5FAY" 7" - ~KER - HE(~2014)]  [R_LAES200tH =] - * * - * * - * * *
I0-39V-Y[BERRENRD1F - 5FAY" 7" - ~AKER - HE(~20R)] B LHEH80tR =] - * * - * * - * * *
J0-39b-Y[ERREND1VF - 5FAY" 7" - ~KER - HE(~2014)]  [R_LAEHD150tH =] - * * - * * - * * *
J0-39V-[EREEARHEY" 7" B - ~EER - HEXd (~31R)] B_LEEN4.9tR =] - * * - * * - * * *
FENFEEHE[ D BRED - ~KER - BRI B (~2)R)] ErEE=8kva [=] - * * - * * - * * *
FENFEEHE[ D BRED - ~KER - BRI B (~2)R)] EFEE=10kva [=] - * * - * * - * * *
RENFEEHE[ D BRED - ~HBIE - BRI B (~3R)] ErRE=15kva [=] - * * - * * - * * *
RENFEEHE[ D BRED - ~HBIK - BRI B (~3R)] EFRE=20kva [=] - * * - * * - * * *
RENFEEHE[ D BRED - ~HBIE - BRI B (~3R)] ErRE=25kva [=] - * * - * * - * * *
RENFEEHE[ D BRED - ~HBIE - BRI B (~1R)] ErRE=35kva [=] - * * - * * - * * *
RENFEEHE[ D BRED - ~HBIE - BRI B (~3R)] ErRE=245kva [=] - * * - * * - * * *
RENFEEHE[ D BRED - ~HBIE - BRI B (~3R)] EIRB=60kva [=] - * * - * * - * * *
RENFEEHE[ D BRED - ~HBIK - BRI B (~3R)] EIRE=75kva [=] - * * - * * - * * *
RENFEEHE[ D BRED - ~HBIE - BRI B (~3R)] EFEE=100kva [=] - * * - * * - * * *
RENFEEHE[ D BRED - ~HBIK - BRI B (~3R)] ErEE=125kva [=] - * * - * * - * * *
RENFEEHE[ D BRED - ~HBIE - BRI B (~3R)] EFEE=150kva [=] - * * - * * - * * *
FENFEEHE[ D BRED - ~KER - BRI B (~2)R)] EFEE=200kva [=] - * * - * * - * * *
FENFEEHE[ D BRED - ~KER - BRI B (~2)R)] EFEE=250kva [=] - * * - * * - * * *
RENFEEHE[ D BRED - ~KER - BRI B (~3R)] EFEE=300kva [=] - * * - * * - * * *
FENFEEHE[ D BRED - ~KER - BRI B (~2)R)] EFRB=350kva [=] - * * - * * - * * *
FENFEEHE[ D BRED - ~KER - BRI B (~3R)] EIEE=2400kva [=] - * * - * * - * * *
RENFEEH GERED - ~RERE R ] ErRE=2kva [=] - * * - * * - * * *
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FENFEBH[ GERE) ~REESE) EREE3kva - - -
FENFEBH[ DERE) - ~IBIREET R EREESkva - - -

UL FIARTN - 105" VBRED - ~BIR - HEXd (~21R)]

ItH&2.0m3/min 0.7MPa

UL MR FIARIN - 105" VBRED - ~BIR - HEXd (~21R)]

ItH&2.5m3/min 0.7MPa

UL FIARTN - 105" VBRED - ~BIR - HEXd (~31R)]

ItHE3.5~3.7m3/min 0.7MPa

LR FIARTN - 105" VBRED - ~BIR - HEXd (~21R)]

ItHE5.0m3/min 0.7MPa

UL MR FIARIN - 105" VBRED - ~BIR - HEXd (~21R)]

ItHE7.5~7.8m3/min 0.7MPa

LR FIARTN - 105" VBRED - ~BIR - HEXd (~31R)]

It &10.5~11.0m3/min 0.7MPa

UL MR FIARTN - 105" VBRED - ~EER - HEXd (~21R)]

ItHE14.2m3/min 0.7MPa

LR FIARTN - 105" VBRED - ~EER - HEXd (~21R)]

ItHE17.0m3/min 0.7MPa

UL MR FIARIN - 105" VBRED - ~EER - HEXd (~3R)]

It &18.0~19.0m3/min 0.7MPa

ZERUL R FIARIC - 105" VBRED - ~EER - BB (~31R)]

It E15m3/min 1.05MPa

UL MR EIHRt - £-5-BRED)

It HE2.2m3/min

UL MR EIHRt - £-5-BRED)

It HE3.7m3/min

UL MR EIHRt - £-5-BRED)

ItHE5.2m3/min

UL MR EIHRt - £-5-BRED)

It HE6.0m3/min

UL MR EIHRt - £-5-BRED)

It HE9.0m3/min

IRENO-F[FETRTC- 507 B - ~KER - HEEY(~2iR)]

BHE2.4~2.8t

IRENO-F[FETRTC- 507 B - ~KER - HEEY(~2)R)]

BHE3.0~5.0t

HRENO-F[FETRTC- A0 B - ~ 8K - B B (~3IR)]

BHE3.0~4.0t

RENO-S[OM B4 ]

BHE0.5~0.6t

RENO-S[OR B4 ]

BHE0.8~1.1t

IREIO-S[OM B AR - ~EER]

BHE0.6~0.7t
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H R R R R R R R R R A R R R R B R R R R R R A i A

EEMERE [I0-78Y - IV -V E ]

BHES 1.7t 1tH

EEMERE [I0-58Y - IV -V E ]

EHES 2.0t 1tH

HREND-7 (TR [T 097 WM 54 ~EER - HE(~2014)] BE11~12t - - -
BAVO—S[~iBIE - B R ~31R)] BE8~20t - - R
AAVO—S[~iBIE - B R ~31R)] BE3~4t - - R
AV O—S[~iBI& - HExd8(2011-2014)] BE13~14t - - N N N N N N N
O— RO—-3[YHY L ~iBIK - HExdE(~2014)] BE10~12t - * * - * * - * *
FAIPMNIAZySv [4-NBY - ~EEE - HEXT Y (~2014)] FEME1.4~3.0m - * * - * * - * *
TAIPMNIAZySv [i4-NBY - ~FBIKER - BEXT B (~2014)] EHRNE2.3~6.0m - * * - * * - * *
595 [ TA - HEW B (~2IR)] 7 L-N1E3.1m - * * - * * - * *
TERKBRT (BART) A% 50mm 2iBE 10m - * * - * * - * *
TERKPRT (BART) A% 50mm 2iBE 15m - * * - * * - * *
TERKBRT (BART) O%100mm =£¥HB%E 10m - * * - * * - * *
TERKPRT (BART) O%100mm 2B 15m - * * - * * - * *
TERKBRT (BART) O%150mm 2£HBE 10m - * * - * * - * *
TERKPRT (BART) O%150mm 2B 15m - * * - * * - * *
TERKPRT (BART) O%200mm 25 10m - * * - * * - * *
TERKPRT (BART) O%200mm 2B 15m - * * - * * - * *
* * * * * *
* * * * * *
* * * * * *
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EEMIEWER[I0-58L SHEY V7 - BB BY(~21R)] EHES 2.0t B - * * - * * - * * *
REEMIEIER[I0-58L SHEY V7" R - BB BY(~21R)] EHES 2.5t B - * * - * * - * * *
DSA>25 - 180mm B - 1,000 1,000 - 1,000 1,000 - 1,000 1,000 0.65
RATHYH - B - 1,620 1,620 - 1,620 1,620 - 1,620 1,620 0.65
v he—% 126MJ/h =] - * * - * * - * * *
UJ hRE J\>OR 6t 1R B -[ 175,000] 175,000 -| 175,000 175,000 -[ 175,000] 175,000 1
UJ hRE A>T 15t 1R B -[ 195,000] 195,000 -| 195,000 195,000 -[ 195,000] 195,000 1
UJ hRE A>T 15t 2/ B -[ 195,000] 195,000 -| 195,000 195,000 -[ 195,000] 195,000 1
UJ hRE J\>OR 25t 28 B -[ 230,000] 230,000 -| 230,000 230,000 -[ 230,000] 230,000 1
BRUBEE [7 -1 UAT] EFSER 300A =] - * * - * * - * * *
AT RSy o[A>O-R - T —TIL] 4 t &R H - * * - * * - * * *
EPTVESEER (MY )5REYTh - 7" -0 EY) VEIAT y$917° ESERE 10~ 12mIL T =] - * * - * * - * * *
EHkERER2E (FRPMER) 900mm B - 7,000 7,000 - 7,000 7,000 - 7,000 7,000 1
EHkERER2E (FRPMER) 1000mm B - 7,900 7,900 - 7,900 7,900 - 7,900 7,900 1
EHkERER2E (FRPMER) 1100mm B - 8,500 8,500 - 8,500 8,500 - 8,500 8,500 1
EHkERER2E (FRPMER) 1200mm B - 9,100 9,100 - 9,100 9,100 - 9,100 9,100 1
EHkERER2E (FRPMER) 1350mm B - 9,800 9,800 - 9,800 9,800 - 9,800 9,800 1
EHkERER2E (FRPMER) 1500mm B -[ 10,500] 10,500 -| 10,500 10,500 -[ 10,500] 10,500 1
EHkERER2E (FRPMER) 1650mm B -[ 15,000] 15,000 -| 15,000 15,000 -[ 15,000] 15,000 1
EHkERER2E (FRPMER) 1800mm B -[ 16,000] 16,000 -| 16,000 16,000 -[ 16,000] 16,000 1
EHkERER2E (FRPMER) 2000mm B -[ 17,200] 17,200 -l 17,200 17,200 - 17,200] 17,200 1
EHkERER2E (FRPMER) 2200mm B -[ 19,000] 19,000 -| 19,000 19,000 -[ 19,000] 19,000 1
EHkERER2E (FRPMER) 2400mm B -[ 21,000] 21,000 - 21,000 21,000 -[ 21,000] 21,000 1
EHkERER2E (FRPMER) 2600mm B - 22,500] 22,500 -l 22,500 22,500 - 22,500] 22,500 1
EHkERER2E (FRPMER) 2800mm B -[ 24,500 24,500 -| 24,500 24,500 -[ 24,500 24,500 1
EHkERER2E (FRPMER) 3000mm B -[ 26,000] 26,000 -| 26,000 26,000 -[ 26,000] 26,000 1
EHkExER2s (DC I PEM) 900mm B - 8,000 8,000 - 8,000 8,000 - 8,000 8,000 1
EHkExRER2s (DC 1 PEM) 1000mm B - 8,000 8,000 - 8,000 8,000 - 8,000 8,000 1
EHkExER2s (DC I PEM) 1100mm B - 8,000 8,000 - 8,000 8,000 - 8,000 8,000 1
EHkExRER2s (DC 1 PEM) 1200mm B - 8,000 8,000 - 8,000 8,000 - 8,000 8,000 1
EHkExER2s (DC I PEM) 1350mm B - 8,000 8,000 - 8,000 8,000 - 8,000 8,000 1
EHkExRER2s (DC 1 PEM) 1500mm B - 9,500 9,500 - 9,500 9,500 - 9,500 9,500 1
EHkExRER2E (DC I PEM) 1600mm B - 9,500 9,500 - 9,500 9,500 - 9,500 9,500 1
EHkExRER2s (DC 1 PEM) 1650mm B - 9,500 9,500 - 9,500 9,500 - 9,500 9,500 1
EHkExRER2E (DC I PEM) 1800mm B - 9,500 9,500 - 9,500 9,500 - 9,500 9,500 1
EHkExRER2s (DC 1 PEM) 2000mm B - 9,500 9,500 - 9,500 9,500 - 9,500 9,500 1
EHkExRER2s (DC 1 PEM) 2100mm B -[ 11,000] 11,000 -| 11,000( 11,000 -[ 11,000] 11,000 1
EHkExER2s (DC I PEM) 2200mm B -[ 11,000] 11,000 -| 11,000( 11,000 -[ 11,000] 11,000 1
EHkExER2s (DC I PEM) 2400mm B -[ 11,000] 11,000 -| 11,000( 11,000 -[ 11,000] 11,000 1
EHkExER2s (DC I PEM) 2600mm B -[ 11,000] 11,000 -| 11,000( 11,000 -[ 11,000] 11,000 1
Ny o[ I0-58Y - ~ B - BEXT BY (~3K)] =)y ME = 1LFE0.28m3 (FFF&0.2m3) =] - * * - * * - * * *
Ny o[ I0-58Y - ~ B - BEXT BY (~3K)] =)y ME = 1LFE0.45m3 (FFF&0.35m3) =] - * * - * * - * * *
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Ny [)0-58 - ~ IR - HEXG B (~2014)] )"y M2 1LUF50.5m3 (F480.4m3) B - * * - * * - * * *
Ny [)0-58 - ~EBIK - HEXG B (~2014)] )"y M2 1LF50.8m3 (FF4E0.6m3) B - * * - * * - * * *
N yoRo[)0-58L - #7538/ )\ HEEIRL - ~iBIK - HE(~2014)] )"y M2 1LIF50.28m3 (TF4E0.2m3) B - * * - * * - * * *
Ny g [)0-58L - #7538/ \BEE] - ~EBME - BExd (~2014) ] )"y M2 1UIF50.45m3 (TF4E0.35m3) B - * * - * * - * * *
ICTN o[ 90-78Y - b= - ~iBIE - HEXTBY(~2014)] =)y NS 2 1LFE0.8m3 (F4#50.6m3) MmAEESI2.9t =] - * * - * * - * * *
INBLC DRI [0-58L - B/ HEEIRL - ~ECER - HERL(~3IR)] =)y MR LUAEH0.22m3 (FFE0.16m3) B - * * - * * - * * *
INBIBH[YD-5 - 75 8/\BEME] - Jb-Y- ~EBIE - BE(~3R)] )"y M2 1LUF50.09m3 (F4E0.07m3) MAEEF0.9t B - * * - * * - * * *
N yIRo[)0-35 - #B/VBEE] - Y=Y - ~KER - BE(~2014)] )"y M2 1UF50.28m3 (F4E0.2m3) MEENL.7t B - * * - * * - * * *
N yIRo[I0-58L - b= - ~EBAK - HEXT Y (~2014)] )"y M2 1UF50.28m3 (F4E0.2m3) MEENL.7t B - * * - * * - * * *
Ny [I0-58L - b= - ~EBAK - HEXT B (~2011)] )"y M2 1LUF50.45m3 (F4E0.35m3) MAES2.9t B - * * - * * - * * *
Ny [I0-58L - Jb-> - ~EBAK - HEXT BY (~2014)] )"y M2 1LUA50.5m3 (TF480.4m3) MAEESI2.9t B - * * - * * - * * *
N yoRo[I0-58L - Jb-> - ~EBAK - HEXT Y (~2014)] HE)" yy b2 1LFB0.8m3 (FFE0.6m3) MRAEES2.9t B - * * - * * - * * *
N yoRo[)0-58 - 758/ NBEE] - Jb-Y - ~EBAR - HE(~2014)]  [BREEN" 7y b2 1LFE0.45m3 (F#50.35m3) MAES2.9t B - * * - * * - * * *
U yRI[)0-5BL - ~EBAK - HEXT B (~3R) ] )"y M2 1UF50.11m3 (TF4E0.08m3) B - * * - * * - * * *
USRI [)0-FBL - ~EBAK - HEXT B (~33R) ] )"y NS LUFE0.055m3 (SF#E0.04m3) B - *(®) *(®) - *(®) *(®) - *(®) *(®) *
SHEIIAYIN[FVATE w2 - ~RER - BEXTBY (~2)R) ] 20—S8¥E0.4m3 [=] - * * - * * - * * *
MM-W0-5" (M558 1)) [~EEE - HETBY(~2)R)] RN ry MLUFEEE1.3~1.4m3 =] - * * - * * - * * *
SETL—H Iy REE0.4m3MIE  PHYFAIMD H - * * - * * - * * *
TUR -4 R - ~MRERE B - HEXT Y (~2014)] 7tk 7~9t [=] - * * - * * - * * *
IV R—H[EM - HExdB(~2011)] 16t#k 15~18t =] - * * - * * - * * *
DIV R—HEHE - BB (~2R)] 20t#Rk 19~21t B - *(®) *(®) - *(®) (@) - *(®) *(®) *
ICTD)L R—T g - HExt B (201 14:4RH)] 7tk 7~9t H - * * - * * - * * *
ICTD)L R—T[Eh - HExt B (201 14:4RH)] 16t#k 15~18t H - * * - * * - * * *
ICTIZES AR R BRI AN EZA(N y i) INVI] [E] - - - - - N B B B 1
ICTIES MR EERINERE(E-97"V-5") =575 =] -| 49,000 49,000 -| 49,000] 49,000 -| 49,000 49,000 1
ICTIES MR EERINEZE(N v i (ICTXIESEY)) IR (ICThE X IGEL) =] - 13,000/ 13,000 - 13,000 13,000 - 13,000, 13,000 1
ICTIES MR EERINERE( W -4 (ICTHIGEL)) 7R -4 (ICTHE X SEL) =] - 13,000/ 13,000 - 13,000 13,000 - 13,000, 13,000 1
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